TH3O4E TEREEM—/H L

EY—S - 17JOwvws
F—L% HERKERE A+ FERFO FERTO J N CHEHERQ | k| R4 > b | IBHL
FERRERE A >k @1-4 13-2 23-2 2 7 2
FERTQ @4-1 @4-1 15-0 3 13 1
FERTO 12-3 @1-4 33-2 1 6 3
J N CHHEED @2-3 @0-5 ®2-3 1 4 | 4
@ 4/818(8) 3} BERKEEA2E 4/818(H) -} FEEFQ 48148 (1) 1-}: JNCHEMHEFO
FERRKREAVF vs  FEETO FEEREFQ vs JNCHHEIEEO®| HERXEREAVF vs JNCHBIEZD
-6 4 — 6 6 — 4
S1|x gk —t# 0 62*2$1¢£FOS1O:I:ESC%22-%1%WﬁﬂéﬁX31XE§L\¥1ﬁ gZ%ﬂE}KﬁﬁO
-1 6 — 4 6 — 3
S2|O 1uz i 2 . 0 mm mAm x|S2|O _dylms 2 " g 0 MEEsA x|S2|O 1k #iF 2 " 0 _BEmisSH x
6 - 1 2 -6 6 - 4
S3|O_JIEE @l 2 . g 0 && Fa x|S3(O _XxAEHx 2 g ? 1 BARZA x|S3|1O Jiu#E Rl 2 . A 0 _EARMK x
Fx BhsE 6 - 1 FH Eth LI A EE 6 - 4 1 EBahER WA thi 6 - 1 1 EBahER
D1 x 14 6 2 (o] hli[e] 2 0 x|D1|O 2 0 x
XE A 1 -6 N EIBEIE 5h 6 - 3 TEER JUEE 6 -0 [EER# I
WA #hfd 6 - 2 EEX #¥ RARN 6 -0 EAREE—ER IIE 0 -6 EERER
D2|O 2 0 x|p2|O 0 — xlp2[x —
JIEE G 6 - 4 EiE = filisE 6 -0 el d A —th 0 -6 AR
P 3 — 2 P 5 — 0 P 3 — 2
S i — 4 S 10 — 2 S i — 4
G 49 — 35 G 66 — 34 G 50 — 42
® 48148 (£) -} FEEFQ @ 4822H(B) 31-b BRREEAZE ® 48228(H) 31-b:  FEEIQ
FERFQ vs FERTO ERAREAVE vs  FERFO FRETQ vs JNCHMILZERQ
SO £B Xz 2 30 YN x|S1|x g5k —# 0 62:I:E x& OlS1|O HH =Eth 2 0 & Bz x
-0 -2 6 — 2
S2|O i wmE 2 A 0 B Eth x|S2(O Wik #hF 2 5 0 fy #mE x|S2(0O & #TE 2 6 . 0 _fE#mahss x
0
6 - 3 7-6 1 -6
S3x XABE k1 ‘% g 2 A #F O|S3|x JIUFE B 1 (13 g 2 KABE % OfS3| x #%E x£E 0 3 6 2 _BABMK O
2
JI[IF—F& 7 6 T Eth 0% ") 1 -6 WE  #EE Eie =4 3 -6 EIGET
D1|O 4 6 1 x|D1] x 0 2 O|D1]| x 0
mEE Fsh 6 - 1 A H#TE AE_RBA 1 - 6 FE Edh wi mAm 0 - 6 [ BB A
WWE #wE 6 - 1 & =6 WA #E 4 - 6 Jlk —& BX #F 6 - 3 EEER
D2|O 2 x |D2| x 16 2 2 o|b2|0 2 0 x
/S 7 -6 ®EH AR JIEE Rl 6 - 4 il #E HEH AR 6 - 2 EAEA
P 4 — 1 P 1 — 4 P 3 — 2
S 9 — 3 S 4 — 8 S 6 — 4
G 66 — 46 G 47 — 58 G 43 — 40




TH 3 O4E TEREEM—/H HE

EY—4 - 27J0OvY
F— L% FEEESY) YR | FASES - B2O B AR F NECERRFO |Mzh|Rv > | Ik
HFrRSEEY)1-YI0R Q@ 2-3 D 4-1 @ 2-3 1 8 4
HEEES - BERQOIQ® 3-2 @ 0-5 D 3-2 2 6 2
BARETF D 1-4 @ 5- R 4-1 21 10 |1
NECERFQ |@ 3-2 D 2-3 Q 1-4 1 6 3
4 /18 (8) -0 HEBES-VR 4 /18 (8) 1-b: HR#EEe-22Q| 48148 () 13-} NECEEFQ
FEBESV-vR vs  BARREF FHEHES - E2@Qvs NECERFO HFARBKELY1-Y3108 vs NECERFQO
6 — 0 3 -6 0—6
SO #EE— 2 6 — 2 0 @AM x|S1|x 2kpEx 1 g - g 2 WOoEi OfSt| x _#mB— 0 6 — 7 2 _LOSEM O
_ — ®)
6 — 3 7 —6 @ 6 — 4
S2|O ikt 2 g —2 1 5 B x[S2|0 BEsi- 2 6 — 3 0 _Ehsmk x|S2|O t£8kEm 2 6 — 4 0 _Rl— x
6 — 0 3—6 1—6
S3|0_N\B u@26—00mma%mxsso#isn—zg—81 Rz x|S3|x REEx 0 4 — 6 2 _EtHmLA O
TiEEE 2 — 6 _FE#Eh Higigk 6 — 0 OIS NE BB ©® 6 — 7 _LO&Em
D1 x 00-62"" oo™ T—26-20" - " x|p|x 16-42" o -
BESE - = B O & - H A #EE— 5 — 7 JeHt=
EBEB— 6 — 4 _iBEABE kfExX— 3 — 6 _ZmIEHA gL b — 7 _HIIEA
D2|O 26 —3 x |2 x 04—-—62" 10 O|pno 26 —21" &+ x
KRl - EIEEh )1 BB i - R waEf ] — 6 o_ EEE@
P 4 — P 3 — 2 P 2 — 3
[ 8 — 3 S 7 — 5 S 5 — 7
G 54 — 34 G 60 — 50 G 58 — 66
® 48148 () 3-b: %J’rEIiiEE%-Ei?i@@ 4822H(H) 31-b}: HFESKESM-R ® 4R22H(H) 13-} B AR F
FHEES - BEQvs BAFRREF HFEKES1-Y0R° vs HESEESE - ERQ BEAKREF vs NECERFQ
3 -6 6 — 5 —
S| x 2kpgx 1 g—gz FE#EH O|S1|O #&EE— 2 6 — 2 0 _B#Es- x|S1|O_F@ALt 2 g—z]t 1 E+EFH x
2 — 6 6 — 2 7-5
S2|x EmEEi- 0 3 — 6 2 _iEAmiE OS2 x e 1 g— g 2 @O @ O|s2|x mAm#E 1 %— g 2 oM O
4 — 6 1—6 6 — 2
S3x O B 01 —6 2 &= 8 OfS3|x _musEin 0 2 — 6 2 _ciistds O[S3|O &= & 2 6 — 1 0 _#i#s— x
HEE— 1 — 6 _FE#EH EEE— 4 — 6 B TR 4 — 6 _LOEM
plx"—p0i1-62 7 —olpo= 6 -3 1 ijo= " —26-31" = —«x
)1 BE - By E AR Bl 6 —4 @O B AHER 1 — 6 @ __ AR
kfEx— 5 — 7 _BABE NS BB 1 — 6 kX BA®mE 7 -5 _HIUEHS
D2| x 1—6 o|p2| x 04 —62 o|n2|o 6 —10 x
B B - INE— 2 b 3t - HTE— INEE— - R
P 0 — 5 P 2 — 3 P 4 — 1
[ 1 — 10 S 5 — 7 IS 9 — 4
G 30 — 64 G 47 — 53 G 69 — 53




THGOEE TEREEEU—JVH HE

EY—4 - JE{RDEK
17JAavy 27JAavy
146L|F = 2 T Q|1 |8 X R i ¥
2l R KBR £ A v M2 Rg@EiEd - EOQ
S|+ E L T OREIN E C E B F @
461l N C B B bt 2 QU B&EE£YV1-Yavr’
®6)513E|(E|)II-I~I x& 6 A3 B8 (H) 1~} X&
FEREF® vs BARIRHBF BERRKEREAY b vs HEMESR - B2Q
— 6 1 —6
Sl|x £B x% 0 62$EﬁmOS1X§'§§L\$O1 62%.‘*%5&{:0
6 — 3 6 — 1
S2|O sl #wE 2 0 B8 g x|S2(O Wwx #m 2 0 @O B X
6 —0 7-5
7 -5 6 -0
SO KagE x 2 2 6 1 E =t x|S3|O JIEE Ml 2 0 #Hx #— x
17 - 15 7-6
1
g —% 4 - 6 A% &R Ji#E B 4 - 6 BB s
D1{O 2 6 4 1 x|D1| x 0 2 O
tB X% 11 -9 TRt #F* GhsE 5 -1 iz m =
5
M E 6 - 4 B @ WA #E 7 - 6 5 x—
D2(O 2 0 x|D2| x 14 6 2 O
Iz 6 - 4 g —2 AE EBX 8 — 10 &) M
P 4 — 1 P —
S 8 — 4 S —
G 74 - 68 G 56 — 59
®GHSE(E)J-I~I x& @GHSEI(EI):I-IH X&
FEHTQ vs NECERTFO JNCEHEHEFED vs FHEKESY)1-ya07°
0—6 =
St x 00 62 OISt x #3m Bz 0 2 &% B— O
0—6 3 — 6
S2| x 0 2 OS2 x m&x #mKx 0 2 AKX Rl O
0—6 3 — 6
0—6 2 -6
S3| x 0 2 OIS3[x =g £ 0 2 )\ B O
0—6 1 -6
0—-6 fes A% 6 - 3 #E B—
D1| x 0 2 @] DIIRS 11 6 2 O
0 — 6 Bx @Ak 4 - 10 _J\K Al
0—6 BB RT3 - 6 2 _ma =@
D2[ x 0 2 O|ID2(O 2 6 4 1 X
0—6 BER A 11 — 9 M EX
P 0 - 5 P 1 - 4
S 0 - 10 S 3 — 9
G 0 - 60 G 45 — 74




